Berechne, wenn magl., die Wendepunkte der gegebenen Funktionen!

0 {(x)= %3+ 6~ A
@ q(xh 2-(x%40)-¢"

A) (= x346x*-4
00 = 35+ A2x
["(R)= Cx +AL

f'“m=(.

ootw. Bed: £°(X1=0  6x+J270 A2
(x=-12|:¢
X=-1

hinr. Bed: ("(x)=0 & (™(x140
[("0=6+0v
(= (D246 2N = =34 24-4 = 45 = WL-9145)

2) a(xm.(x‘-m o*
'(= ¢ (2% +lx-32)
(3"(X\=Qx(ﬁxa*8x- 2)

WA= 8x- 8 WK =bx+
v = " ViR -e”
tj“(x\- (ux+8)-¢* + (2x*+8x-28) ¢
= e% (uxtd + Ux*+x-29)
= " [ A V)
not . Bed: g‘lx\=0 "Qx-(lxl:%x-il&%o | SUNP
50 IxT+8x-23<0 |:2
x4 Ux- Au<p|

s. My\x Extremo.



hinv. bed. 3“2(10-.0 29°(x)1+0
9'(22) - e*t.(2-907+42:2.2-20) = NS 24 0 v
q'(2) = €7 (20621 +1L2)-20) = -00 40V

- Noodiraken:
22

(22): 2(22%-A6) € = - AW — (R(2,2)-204,W0)
qL6= 2 (62)2-40)-C % 0,09 — WR(-6,2] 0,09)

Seite 2



